logarithmic V , Vo-data = logarithmic 1/ , 1V -data u) = (A — 550) / 50
logV. = (logV,+ logLg)/2logiVi, = —0,35u)-u L logl. =(log +loglLe)/2log  =-0,35L)\-u ]

logVo =logV + 0,03 logLo= —0,35U)\~Us7d log Vi, =logh +0,12 logLo=-0,35u)~ usm]
log [Vo, V , Vi, Lo] Adaptation: A, =555 log [ Mo, M, Lol Adaptation: A =540
570 570
0, . 0] - .
maximum maximum
1 log(Vm)=-0,03 1 log(V' m)=-0,13
Vm=0,93 =07/
Threshold Threshold
~1T t4=0,00 i t4=0,00
—-21-3 =il 1 3 uy 1 3 uy
500 600 700 A/nm ( 600 700 A/nm

BE760-2R

, C-data u) = (A —550) / 5(%
logL = (logVi,+log )/2logVi,=—0,35)-u N =(log +log )/2log =-0,35u\—u ] )
logLo, =logL + 0,12 log® =-0,35u\-u ] =log~ +0,89 log =-0,35u\—u
log [Lo, L, Vo, Adaptation: A, =570 Adaptation: A =520

0, . .
maximum maximum
£ log(L m)=-0,12

Lm=0,74
Threshold Threshold

~1T t5=0,00 i t4=0,00

-21-3 3 uy 1 3 uy,

( 500 600 700 A/nm ( 600 700 A/nm

BE760-4R
, . -data u, = (\ —550) / 50 ithmi , -data u, = (A — 550) / 5(%

log = (log  +loglLe)/2 log = =-0,35\-u ]2 =(log +logLe)/2 log  =-0,35u\—u ]

log -, =log* + 0,35 logLo=—0,35U)\~Us7d =log +0,59 logLo=-0,35u)\~Us7q

log[, ", ,Lo] Adaptation: A =520 CaSo Adaptation: A =505
o 570 570
maximum maximum
1 //— Iog(_OmAszO,BS 1 Iog(_om%;o,sg
1 Tmes'hold TfTreshoId
1T t5=0,00 i t4=0,00

1

600 700 A/nm

BE760-5R BE760-6R

., -data )\ E ()\ 550) / 5(% ithmi , Co-data uy = (\ —550)/ 502
log =(log +log\.)/2log -0,350U\-u ] | =(log  +logLe)/2 log  =-0,35u\-u ]2
log =log +0,35 log —0,35u\—u:.] =log" +0,35 logLo=—0,35u)\~Us7q
log[ ~, , , Adaptation: A =490 " aBo 0 Adaptation: A | =520

3 uy

o 570
maximum maximum
1 log( m)=-0,35
m=0,44
Threshold Threshold
~1T t,=0,00 I 1,=0,00
-21-3 -1 3 uy 3 uy
400 500 700 A/nm
ToDo->CaCo BE760-7R BoJo->MaMo BE760-8R

BE760-7R, 1



